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Question 1. [12 marks]

(a) Find %(xztanfl(.ﬁ: +1)).
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(b) Find %(in@ + sin(2x)).
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(c) Let h(z) = ze” + z". Find the following derivatives: h'(z), h”(z) then A0 (z).
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Question 2. [5 marks] Use logarithmic differentiation to find the derivative of %
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Question 3. [7 marks| Use implicit differentiation to find an equation of the tangent line to

the curve: 2? — 2z + y* + 2zy = 5 at the point (2,1).

Answer: The equation of the tangent line at (2,1) is ...... % =, -2 (L
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Question 4. [6 marks] (a) Find the linear approximation of the function f(z) = 2z + 1 at
a = 4, then use it to approximate the number /9.2.
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(b) For what values of x is the linear approximation (found in the previous question) accurate
to within 37
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